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Q1) Attempt any two of the following : [2 × 5 = 10]

a) Define Architectural Coatings.

b) Explain the primary purpose of architectural coatings in the construction industry.

c) List and briefly describe three common types of architectural coatings used in building construction.

Q2) Attempt any two of the following : [2 × 5 = 10]

a) Which type of industrial coating is specifically designed to protect metal surfaces from corrosion? Provide examples
of such coatings and their applications.

b) What are Volatile Organic Compounds (VOCs) in coatings, and why is it essential to reduce their content in architectural
applications?

c) In industrial coatings, what is the significance of a topcoat, and what functions does it serve?

Q3) Attempt any two of the following : [2 × 5 = 10]

a) How would you select the right type of coating for metal substrates to prevent corrosion in marine environments?
Discuss the key factors to consider.

b) Outline the primary challenges in applying coatings to plastics, and describe the methods used to address these
challenges.

c) Explain the differences between airless spray and air-assisted airless spray methods when applying coatings.

Q4) Attempt any two of the following : [2 × 5 = 10]

a) What are the key differences between solvent-based and water-based coatings? Provide examples of applications
for each type.

b) Explain the characteristics and benefits of anti-corrosion coatings used in industrial settings.

c) Discuss the important considerations when applying coatings to concrete surfaces to enhance their durability.

Q5) Write short notes on any five of the following : [5 × 2 = 10]

a) Considerations for coating wood substrates and plastic substrates.

b) The use of paint and shellac for furniture finishing.

c) The importance of primer in the coating process.

d) Glazing as a finishing technique.

e) Application methods for spray painting and dip coating.

f) Water-soluble and water-reducible binders in coatings.

g) Advantages of using an undercoat in painting applications.

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go H$moB© Xmo à¶mg H$a|& [2 × 5 = 10]

A) dmñVw{eën H$moqQ>½g H$mo n[a^m{fV H$a|&

~) {Z‘m©U CÚmoJ ‘| dmñVw{eën H$moqQ>½g Ho$ àmW{‘H$ CÔoí¶ H$s ì¶m»¶m H$a|&

g) ^dZ {Z‘m©U ‘| Cn¶moJ {H$E OmZo dmbo VrZ gm‘mÝ¶ àH$ma Ho$ dmñVw{eën H$moqQ>½g H$s gyMr ~ZmE§ Am¡a CZH$m g§jon ‘| dU©Z H$a|&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go H$moB© Xmo à¶mg H$a|& [2 × 5 = 10]

A) {H$g àH$ma H$s Am¡Úmo{JH$ H$moqQ>J {deof ê$n go YmVw H$s gVhm| H$mo O§J go ~MmZo Ho$ {bE {S>OmBZ H$s JB© h¡? Eogo H$moqQ>½g Am¡a CZHo$ AZwà¶moJm| Ho$
CXmhaU àXmZ H$a|&

~) H$moqQ>½g ‘| dmînerb H$m~©{ZH$ ¶m¡{JH$ (drAmogr) ³¶m h¢, Am¡a dmñVw{eën AZwà¶moJm| ‘| CZH$s gm‘J«r H$mo H$‘ H$aZm ³¶m| Amdí¶H$ h¡?

g) Am¡Úmo{JH$ H$moqQ>½g ‘|, Q>m°nH$moQ> H$m ³¶m ‘hËd h¡, Am¡a ¶h ³¶m H$m¶© H$aVm h¡?

à.à.à.à.à.3) {ZåZ{b{IV ‘| go H$moB© Xmo à¶mg H$a|& [2 × 5 = 10]

A) g‘wÐr dmVmdaU ‘| g§jmaU H$mo amoH$Zo Ho$ {bE Amn YmVw gãgQ´>oQ> Ho$ {bE ghr àH$ma H$s H$moqQ>J H$m M¶Z H¡$go H$a|Jo? {dMma H$aZo ¶mo½¶ à‘wI H$maH$m|
na MMm© H$a|&

~) ßbmpñQ>H$ na H$moqQ>J bJmZo ‘| àmW{‘H$ MwZm¡¡{V¶m| H$s ê$naoIm V¡¶ma H$a|, Am¡a BZ MwZm¡{V¶m| H$m g‘mYmZ H$aZo Ho$ {bE Cn¶moJ H$s OmZo dmbr {d{Y¶m|
H$m dU©Z H$a|&

g) H$moqQ>J bJmVo g‘¶ dm¶whrZ ñào Am¡a dm¶w-ghm¶H$ dm¶whrZ ñào {d{Y¶m| Ho$ ~rM A§Va ñnï> H$a|&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go H$moB© Xmo à¶mg H$a|& [2 × 5 = 10]

A) {dbm¶H$-AmYm[aV Am¡a Ob-AmYm[aV H$moqQ>½g Ho$ ~rM ‘w»¶ A§Va ³¶m h¢? àË¶oH$ àH$ma Ho$ {bE AZwà¶moJm| Ho$ CXmhaU àXmZ H$a|&

~) Am¡Úmo{JH$ goqQ>½g ‘| Cn¶moJ {H$E OmZo dmbo O§J-amoYr H$moqQ>½g H$s {deofVmAm| Am¡a bm^m| H$s ì¶m»¶m H$a|&

g) H§$H«$sQ> gVhm| Ho$ ñWm{¶Ëd H$mo ~‹T>mZo Ho$ {bE CZ na H$moqQ>J bJmVo g‘¶ ‘hËdnyU© {dMmam| na MMm© H$a|&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht nm±M na g§{já ZmoQ²>g {bI|& [2 × 5 = 10]

A) bH$‹S>r Ho$ g~ñQ´>oQ²>g Am¡a ßbmpñQ>H$ g~ñQ´>oQ²>g H$s H$moqQ>J Ho$ {bE {dMma&

~) ’$ZuMa {’${ZqeJ Ho$ {bE n|Q> Am¡a eob¡H$ H$m Cn¶moJ&

g) H$moqQ>J à{H«$¶m ‘| àmB‘a H$m ‘hËd&

X) {’${ZqeJ VH$ZrH$ Ho$ ê$n ‘| ½boqµOJ&

B) ñào n|qQ>J Am¡a {S>n H$moqQ>J Ho$ {bE AmdoXZ Ho$ VarHo$&

’$) H$moqQ>½g ‘| nmZr ‘| KwbZerb Am¡a nmZr ‘| H$‘ hmoZo dmbo ~mB§S>a&

¶) n|qQ>J AZwà¶moJm| ‘| A§S>aH$moQ> H$m Cn¶moJ H$aZo Ho$ bm^&




